# OFFICE OF THE CITY ATTORNEY CHARLES PARKIN, City Attomey 333 West Ocean Boulevard, 11th Floor Long Beach. CA 90802-4664

### **AGREEMENT**

## 

THIS AGREEMENT is made and entered, in duplicate, as of April 12, 2018 for reference purposes only, pursuant to Resolution No. RES-18-0048, adopted by the City Council of the City of Long Beach at its meeting on April 3, 2018, by and between AMS.NET, INC., a Delaware corporation ("Contractor"), with a place of business at 502 Commerce Way, Livermore, California 94551, and the CITY OF LONG BEACH ("City"), a municipal corporation.

WHEREAS, City is in need of telecommunications equipment for the Library Services Department; and

WHEREAS, City did by Resolution No. RES-18-0048 determine that the City's need for telecommunications equipment for the Library Services Department could only be met by Contractor and, by reason of the foregoing, no useful purpose would be served by advertising for bids for telecommunications equipment for the Library Services Department, and to do so would constitute an idle and useless act and an unnecessary expenditure of public funds;

NOW, THEREFORE, in consideration of the mutual terms, covenants, and conditions in this Contract, the parties agree as follows:

### 1. <u>SCOPE OF WORK OR SERVICES</u>.

A. Contractor shall furnish and install telecommunications equipment more particularly described in Exhibit "A", attached to this Agreement and incorporated by this reference, in accordance with the standards of the profession, and City shall pay for these services in the manner described below, not to exceed Eighty-Eight Thousand One Hundred Fifty-One Dollars (\$88,151), at the rates or charges shown in Exhibit "A".

B. City shall pay Contractor in due course of payments following receipt from Contractor and approval by City of invoices showing the services or task performed, the time expended (if billing is hourly), and the name of the Project.

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

Contractor shall certify on the invoices that Contractor has performed the services in full conformance with this Agreement and is entitled to receive payment. Each invoice shall be accompanied by a progress report indicating the progress to date of services performed and covered by the invoice, including a brief statement of any Project problems and potential causes of delay in performance, and listing those services that are projected for performance by Contractor during the next invoice cycle. Where billing is done and payment is made on an hourly basis, the parties acknowledge that this arrangement is either customary practice for Contractor's profession, industry or business, or is necessary to satisfy audit and legal requirements which may arise due to the fact that City is a municipality.

- C. Contractor represents that Contractor has obtained necessary information on conditions and circumstances that may affect its performance and has conducted site visits, if necessary.
- D. By executing this Agreement, Contractor warrants that Contractor (a) has thoroughly investigated and considered the scope of services to be performed, (b) has carefully considered how the services should be performed. and (c) fully understands the facilities, difficulties and restrictions attending performance of the services under this Agreement. It the services involve work upon any site, Contractor warrants that Contractor has or will investigate the site and is or will be fully acquainted with the conditions there existing, prior to commencement of services set forth in this Agreement. Should Contractor discover any latent or unknown conditions that will materially affect the performance of the services set forth in this Agreement, Contractor must immediately inform the City of that fact and may not proceed except at Contractor's risk until written instructions are received from the City.
- E. Contractor must adopt reasonable methods during the life of the Agreement to furnish continuous protection to the work, and the equipment, materials, papers, documents, plans, studies and other components to prevent

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

losses or damages, and will be responsible for all damages, to persons or property. until acceptance of the work by the City, except those losses or damages as may be caused by the City's own negligence.

- F. CAUTION: Contractor shall not begin work until this Agreement has been signed by both parties and until Contractor's evidence of insurance has been delivered to and approved by City.
- 2. <u>TERM</u>. The term of this Agreement shall commence at midnight on April 16, 2018, and shall terminate at 11:59 p.m. on March 31, 2019, unless sooner terminated as provided in this Agreement, or unless the services or the Project is completed sooner.

### 3. COORDINATION AND ORGANIZATION.

Α. Contractor shall coordinate its performance with City's representative, if any, named in Exhibit "B", attached to this Agreement and Contractor shall advise and inform City's incorporated by this reference. representative of the work in progress on the Project in sufficient detail so as to assist City's representative in making presentations and in holding meetings on the Project. City shall furnish to Contractor information or materials, if any, described in Exhibit "C", attached to this Agreement and incorporated by this reference, and shall perform any other tasks described in the Exhibit.

- B. The parties acknowledge that a substantial inducement to City for entering this Agreement was and is the reputation and skill of Contractor's key employee, named in Exhibit "D", attached to this Agreement and incorporated by this reference. City shall have the right to approve any person proposed by Contractor to replace that key employee.
- 4. INDEPENDENT CONTRACTOR. performing its services, Contractor is and shall act as an independent contractor and not an employee, representative or agent of City. Contractor shall have control of Contractor's work and the manner in which it is performed. Contractor shall be free to contract for similar services to

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

be performed for others during this Agreement; provided, however, that Contractor acts in accordance with Section 9 and Section 11 of this Agreement. Contractor acknowledges and agrees that (a) City will not withhold taxes of any kind from Contractor's compensation; (b) City will not secure workers' compensation or pay unemployment insurance to, for or on Contractor's behalf; and (c) City will not provide and Contractor is not entitled to any of the usual and customary rights, benefits or privileges of City employees. Contractor expressly warrants that neither Contractor nor any of Contractor's employees or agents shall represent themselves to be employees or agents of City.

### 5. INSURANCE.

As a condition precedent to the effectiveness of this Agreement, Contractor shall procure and maintain, at Contractor's expense for the duration of this Agreement, from insurance companies that are admitted to write insurance in California and have ratings of or equivalent to A:V by A.M. Best Company or from authorized non-admitted insurance companies subject to Section 1763 of the California Insurance Code and that have ratings of or equivalent to A:VIII by A.M. Best Company, the following insurance:

(a) Commercial general liability insurance (equivalent in scope to ISO form CG 00 01 11 85 or CG 00 01 10 93) in an amount not less than \$1,000,000 per each occurrence and \$2,000,000 general aggregate. This coverage shall include but not be limited to broad form contractual liability. cross liability, independent contractors liability, and products and completed operations liability. City, its boards and commissions, and their officials, employees and agents shall be named as additional insureds by endorsement (on City's endorsement form or on an endorsement equivalent in scope to ISO form CG 20 10 11 85 or CG 20 26 11 85), and this insurance shall contain no special limitations on the scope of protection given to City, its boards and commissions, and their officials, employees and agents. This policy shall be endorsed to state that the insurer waives its right of

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

- (b) Workers' Compensation insurance as required by the California Labor Code and employer's liability insurance in an amount not less than \$1,000,000. This policy shall be endorsed to state that the insurer waives its right of subrogation against City, its boards and commissions, and their officials, employees and agents.
- (c) Professional liability or errors and omissions insurance in an amount not less than \$1,000,000 per claim.
- (d) Commercial automobile liability insurance (equivalent in scope to ISO form CA 00 01 06 92), covering Auto Symbol 1 (Any Auto) in an amount not less than \$500,000 combined single limit per accident.
- В. self-insurance program, self-insured retention, deductible must be separately approved in writing by City's Risk Manager or designee and shall protect City, its officials, employees and agents in the same manner and to the same extent as they would have been protected had the policy or policies not contained retention or deductible provisions.
- C. Each insurance policy shall be endorsed to state that coverage shall not be reduced, non-renewed or canceled except after thirty (30) days prior written notice to City, shall be primary and not contributing to any other insurance or self-insurance maintained by City, and shall be endorsed to state that coverage maintained by City shall be excess to and shall not contribute to insurance or selfinsurance maintained by Contractor. Contractor shall notify City in writing within five (5) days after any insurance has been voided by the insurer or cancelled by the insured.
- D. If this coverage is written on a "claims made" basis, it must provide for an extended reporting period of not less than one hundred eighty (180) days, commencing on the date this Agreement expires or is terminated, unless

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

Contractor guarantees that Contractor will provide to City evidence of uninterrupted, continuing coverage for a period of not less than three (3) years, commencing on the date this Agreement expires or is terminated.

- E. Contractor shall require that all sub-contractors or contractors that Contractor uses in the performance of these services maintain insurance in compliance with this Section unless otherwise agreed in writing by City's Risk Manager or designee.
- F. Prior to the start of performance, Contractor shall deliver to City certificates of insurance and the endorsements for approval as to sufficiency and form. In addition, Contractor shall, within thirty (30) days prior to expiration of the insurance, furnish to City certificates of insurance and endorsements evidencing renewal of the insurance. City reserves the right to require complete certified copies of all policies of Contractor and Contractor's sub-Contractors and contractors, at any time. Contractor shall make available to City's Risk Manager or designee all books. records and other information relating to this insurance, during normal business hours.
- G. Any modification or waiver of these insurance requirements shall only be made with the approval of City's Risk Manager or designee. Not more frequently than once a year, City's Risk Manager or designee may require that Contractor, Contractor's sub-Contractors and contractors change the amount, scope or types of coverages required in this Section if, in his or her sole opinion, the amount, scope or types of coverages are not adequate.
- Н. The procuring or existence of insurance shall not be construed or deemed as a limitation on liability relating to Contractor's performance or as full performance of or compliance with the indemnification provisions of this Agreement.
- 6. ASSIGNMENT AND SUBCONTRACTING. This Agreement contemplates the personal services of Contractor and Contractor's employees, and the parties acknowledge that a substantial inducement to City for entering this Agreement was

3

4

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

and is the professional reputation and competence of Contractor and Contractor's Contractor shall not assign its rights or delegate its duties under this Agreement, or any interest in this Agreement, or any portion of it, without the prior approval of City, except that Contractor may with the prior approval of the City Manager of City, assign any moneys due or to become due Contractor under this Agreement. Any attempted assignment or delegation shall be void, and any assignee or delegate shall acquire no right or interest by reason of an attempted assignment or delegation. Furthermore, Contractor shall not subcontract any portion of its performance without the prior approval of the City Manager or designee, or substitute an approved sub-Contractor or contractor without approval prior to the substitution. Nothing stated in this Section shall prevent Contractor from employing as many employees as Contractor deems necessary for performance of this Agreement.

- 7. CONFLICT OF INTEREST. Contractor, by executing this Agreement, certifies that, at the time Contractor executes this Agreement and for its duration, Contractor does not and will not perform services for any other client which would create a conflict, whether monetary or otherwise, as between the interests of City and the interests of that other client. And, Contractor shall obtain similar certifications from Contractor's employees, sub-Contractors and contractors.
- 8. MATERIALS. Contractor shall furnish all labor and supervision. supplies, materials, tools, machinery, equipment, appliances, transportation and services necessary to or used in the performance of Contractor's obligations under this Agreement, except as stated in Exhibit "C".
- 9 OWNERSHIP OF DATA. All materials, information and data prepared, developed or assembled by Contractor or furnished to Contractor in connection with this Agreement, including but not limited to documents, estimates, calculations, studies, maps, graphs, charts, computer disks, computer source documentation, samples, models, reports, summaries, drawings, designs, notes, plans, information, material and memorandum ("Data") shall be the exclusive property of City. Data shall be given to City,

3

4

6

7

8

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

and City shall have the unrestricted right to use and disclose the Data in any manner and for any purpose without payment of further compensation to Contractor. Copies of Data may be retained by Contractor but Contractor warrants that Data shall not be made available to any person or entity for use without the prior approval of City. This warranty shall survive termination of this Agreement for five (5) years.

- 10. TERMINATION. Either party shall have the right to terminate this Agreement for any reason or no reason at any time by giving fifteen (15) calendar days prior notice to the other party. In the event of termination under this Section, City shall pay Contractor for services satisfactorily performed and costs incurred up to the effective date of termination for which Contractor has not been previously paid. The procedures for payment in Section 1.B. with regard to invoices shall apply. On the effective date of termination, Contractor shall deliver to City all Data developed or accumulated in the performance of this Agreement, whether in draft or final form, or in process. And, Contractor acknowledges and agrees that City's obligation to make final payment is conditioned on Contractor's delivery of the Data to City.
- 11. CONFIDENTIALITY. Contractor shall keep all Data confidential and shall not disclose the Data or use the Data directly or indirectly, other than in the course of performing its services, during the term of this Agreement and for five (5) years following expiration or termination of this Agreement. In addition, Contractor shall keep confidential all information, whether written, oral or visual, obtained by any means whatsoever in the course of performing its services for the same period of time. Contractor shall not disclose any or all of the Data to any third party, or use it for Contractor's own benefit or the benefit of others except for the purpose of this Agreement.
- 12. BREACH OF CONFIDENTIALITY. Contractor shall not be liable for a breach of confidentiality with respect to Data that: (a) Contractor demonstrates Contractor knew prior to the time City disclosed it; or (b) is or becomes publicly available without breach of this Agreement by Contractor; or (c) a third party who has a right to disclose does so to Contractor without restrictions on further disclosure; or (d) must be disclosed pursuant

to subpoena or court order.

, 28

the performance of the services, without invalidating this Agreement, to order extra work beyond that specified in the RFP or make changes by altering, adding to or deducting from the work. No extra work may be undertaken unless a written order is first given by the City, incorporating any adjustment in the Agreement Sum, or the time to perform this Agreement. Any increase in compensation of ten percent (10%) or less of the Agreement Sum, or in the time to perform of One Hundred Eighty (180) days or less, may be approved by the City Representative. Any greater increases, taken either separately or cumulatively, must be approved by the City Council. It is expressly understood by Contractor that the provisions of this paragraph do not apply to services specifically set forth in the RFP or reasonably contemplated in the RFP. Contractor acknowledges that it accepts the risk that the services to be provided pursuant to the RFP may be more costly or time consuming than Contractor anticipates and that Contractor will not be entitled to additional compensation for the services set forth in the RFP.

14. RETENTION OF FUNDS. Contractor authorizes the City to deduct from any amount payable to Contractor (whether or not arising out of this Agreement) any amounts the payment of which may be in dispute or that are necessary to compensate the City for any losses, costs, liabilities or damages suffered by the City, and all amounts for which the City may be liable to third parties, by reason of Contractor's acts or omissions in performing or failing to perform Contractor's obligations under this Agreement. In the event that any claim is made by a third party, the amount or validity of which is disputed by Contractor, or any indebtedness exists that appears to be the basis for a claim of lien, the City may withhold from any payment due, without liability for interest because of the withholding, an amount sufficient to cover the claim. The failure of the City to exercise the right to deduct or to withhold will not, however, affect the obligations of Contractor to insure, indemnify and protect the City as elsewhere provided in this Agreement.

15. AMENDMENT. This Agreement, including all Exhibits, shall not be

2

3

4

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

amended, nor any provision or breach waived, except in writing signed by the parties which expressly refers to this Agreement.

16. LAW. This Agreement shall be construed in accordance with the laws of the State of California, and the venue for any legal actions brought by any party with respect to this Agreement shall be the County of Los Angeles, State of California for state actions and the Central District of California for any federal actions. Contractor shall cause all work performed in connection with construction of the Project to be performed in compliance with (1) all applicable laws, ordinances, rules and regulations of federal, state, county or municipal governments or agencies (including, without limitation, all applicable federal and state labor standards, including the prevailing wage provisions of sections 1770 et seq. of the California Labor Code); and (2) all directions, rules and regulations of any fire marshal, health officer, building inspector, or other officer of every governmental agency now having or hereafter acquiring jurisdiction. If any part of this Agreement is found to be in conflict with applicable laws, that part will be inoperative, null and void insofar as it is in conflict with any applicable laws, but the remainder of the Agreement will remain in full force and effect.

### 17. PREVAILING WAGES.

- Α. Consultant agrees that all public work (as defined in California Labor Code section 1720) performed pursuant to this Agreement (the "Public Work"), if any, shall comply with the requirements of California Labor Code sections 1770 et seq. City makes no representation or statement that the Project, or any portion thereof, is or is not a "public work" as defined in California Labor Code section 1720.
- In all bid specifications, contracts and subcontracts for any В. such Public Work, Consultant shall obtain the general prevailing rate of per diem wages and the general prevailing rate for holiday and overtime work in this locality for each craft, classification or type of worker needed to perform the Public Work. and shall include such rates in the bid specifications, contract or subcontract. Such

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

bid specifications, contract or subcontract must contain the following provision: "It shall be mandatory for the contractor to pay not less than the said prevailing rate of wages to all workers employed by the contractor in the execution of this contract. The contractor expressly agrees to comply with the penalty provisions of California Labor Code section 1775 and the payroll record keeping requirements of California Labor Code section 1771."

18. ENTIRE AGREEMENT. This Agreement, including all Exhibits, constitutes the entire understanding between the parties and supersedes all other agreements, oral or written, with respect to the subject matter in this Agreement.

### INDEMNITY. 19.

Α. Consultant shall indemnify, protect and hold harmless City, its Boards, Commissions, and their officials, employees and agents ("Indemnified Parties"), from and against any and all liability, claims, demands, damage, loss, obligations, causes of action, proceedings, awards, fines, judgments, penalties, costs and expenses, arising or alleged to have arisen, in whole or in part, out of or in connection with (1) Consultant's breach or failure to comply with any of its obligations contained in this Agreement, including all applicable federal and state labor requirements including, without limitation, the requirements of California Labor Code section 1770 et seq. or (2) negligent or willful acts, errors, omissions or misrepresentations committed by Consultant, its officers, employees, agents, subcontractors, or anyone under Consultant's control, in the performance of work or services under this Agreement (collectively "Claims" or individually "Claim").

B. In addition to Consultant's duty to indemnify, Consultant shall have a separate and wholly independent duty to defend Indemnified Parties at Consultant's expense by legal counsel approved by City, from and against all Claims, and shall continue this defense until the Claims are resolved, whether by settlement, judgment or otherwise. No finding or judgment of negligence, fault, breach, or the like on the part of Consultant shall be required for the duty to defend

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

to arise. City shall notify Consultant of any Claim, shall tender the defense of the Claim to Consultant, and shall assist Consultant, as may be reasonably requested. in the defense.

- C. If a court of competent jurisdiction determines that a Claim was caused by the sole negligence or willful misconduct of Indemnified Parties. Consultant's costs of defense and indemnity shall be (1) reimbursed in full if the court determines sole negligence by the Indemnified Parties, or (2) reduced by the percentage of willful misconduct attributed by the court to the Indemnified Parties.
- D. The provisions of this Section shall survive the expiration or termination of this Agreement.
- 20. FORCE MAJEURE. If any party fails to perform its obligations because of strikes, lockouts, labor disputes, embargoes, acts of God, inability to obtain labor or materials or reasonable substitutes for labor materials, governmental restrictions, governmental regulations, governmental controls, judicial orders, enemy or hostile governmental action, civil commotion, fire or other casualty, or other causes beyond the reasonable control of the party obligated to perform, then that party's performance will be excused for a period equal to the period of such cause for failure to perform.
- 21. AMBIGUITY. In the event of any conflict or ambiguity between this Agreement and any Exhibit, the provisions of this Agreement shall govern.

### 22. NONDISCRIMINATION.

Α. In connection with performance of this Agreement and subject to applicable rules and regulations, Contractor shall not discriminate against any employee or applicant for employment because of race, religion, national origin, color, age, sex, sexual orientation, gender identity, AIDS, HIV status, handicap or disability. Contractor shall ensure that applicants are employed, and that employees are treated during their employment, without regard to these bases. These actions shall include, but not be limited to, the following: employment, upgrading, demotion or transfer; recruitment or recruitment advertising; layoff or termination; rates of pay

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

or other forms of compensation; and selection for training, including apprenticeship.

- 23. EQUAL BENEFITS ORDINANCE. Unless otherwise exempted in accordance with the provisions of the Ordinance, this Agreement is subject to the applicable provisions of the Equal Benefits Ordinance (EBO), section 2.73 et seq. of the Long Beach Municipal Code, as amended from time to time.
  - Α. During the performance of this Agreement, the Consultant certifies and represents that the Consultant will comply with the EBO. Consultant agrees to post the following statement in conspicuous places at its place of business available to employees and applicants for employment:

"During the performance of a contract with the City of Long Beach, the Consultant will provide equal benefits to employees with spouses and its employees with domestic partners. Additional information about the City of Long Beach's Equal Benefits Ordinance may be obtained from the City of Long Beach Business Services Division at 562-570-6200."

- B. The failure of the Consultant to comply with the EBO will be deemed to be a material breach of the Agreement by the City.
- C. If the Consultant fails to comply with the EBO, the City may cancel, terminate or suspend the Agreement, in whole or in part, and monies due or to become due under the Agreement may be retained by the City. The City may also pursue any and all other remedies at law or in equity for any breach.
- D. Failure to comply with the EBO may be used as evidence against the Consultant in actions taken pursuant to the provisions of Long Beach Municipal Code 2.93 et seq., Contractor Responsibility.
- E. If the City determines that the Consultant has set up or used its contracting entity for the purpose of evading the intent of the EBO, the City may terminate the Agreement on behalf of the City. Violation of this provision may be used as evidence against the Consultant in actions taken pursuant to the provisions of Long Beach Municipal Code Section 2.93 et seq., Contractor Responsibility.

2

3

4

6

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

24. NOTICES. Any notice or approval required by this Agreement shall be in writing and personally delivered or deposited in the U.S. Postal Service, first class, postage prepaid, addressed to Contractor at the address first stated above, and to City at 333 West Ocean Boulevard, Long Beach, California 90802, Attn: City Manager, with a copy to the City Clerk at the same address. Notice of change of address shall be given in the same manner as stated for other notices. Notice shall be deemed given on the date deposited in the mail or on the date personal delivery is made, whichever occurs first.

- 25. COVENANT AGAINST CONTINGENT FEES. Contractor warrants that Contractor has not employed or retained any entity or person to solicit or obtain this Agreement and that Contractor has not paid or agreed to pay any entity or person any fee, commission or other monies based on or from the award of this Agreement. If Contractor breaches this warranty, City shall have the right to terminate this Agreement immediately notwithstanding the provisions of Section 10 or, in its discretion, to deduct from payments due under this Agreement or otherwise recover the full amount of the fee, commission or other monies.
- 26. WAIVER. The acceptance of any services or the payment of any money by City shall not operate as a waiver of any provision of this Agreement or of any right to damages or indemnity stated in this Agreement. The waiver of any breach of this Agreement shall not constitute a waiver of any other or subsequent breach of this Agreement.
- 27. <u>CONTINUATION</u>. Termination or expiration of this Agreement shall not affect rights or liabilities of the parties which accrued pursuant to Sections 7, 10, 11, 18, 21 and 28 prior to termination or expiration of this Agreement.
- 28. TAX REPORTING. As required by federal and state law, City is obligated to and will report the payment of compensation to Contractor on Form 1099-Misc. Contractor shall be solely responsible for payment of all federal and state taxes resulting from payments under this Agreement. Contractor shall submit Contractor's Employer Identification Number (EIN), or Contractor's Social Security Number if Contractor does not

2

3

4

5

6

7

8

10

11

12

13

17

21

25

26

27

28

have an EIN, in writing to City's Accounts Payable, Department of Financial Management. Contractor acknowledges and agrees that City has no obligation to pay Contractor until Contractor provides one of these numbers.

- 29. ADVERTISING. Contractor shall not use the name of City, its officials or employees in any advertising or solicitation for business or as a reference, without the prior approval of the City Manager or designee.
- 30. AUDIT. City shall have the right at all reasonable times during the term of this Agreement and for a period of five (5) years after termination or expiration of this Agreement to examine, audit, inspect, review, extract information from and copy all books, records, accounts and other documents of Contractor relating to this Agreement.
- 31. THIRD PARTY BENEFICIARY. This Agreement is not intended or designed to or entered for the purpose of creating any benefit or right for any person or entity of any kind that is not a party to this Agreement.

14 III15 /// 16 //////18 /// 19 /// 20 /// /// 22 /// 23 /// 24 /// /// /// /// ///

OFFICE OF THE CITY ATTORNEY CHARLES PARKIN, City Attorney 333 West Ocean Boulevard, 11th Floor Long Beach. CA 90802-4664

# EXHIBIT "A"

Scope of Work/Services/Rates/Charges



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

## **Customer Price Quote**

| Quote#                 | #Q-00022095     |
|------------------------|-----------------|
| Project #              | 84630           |
| Modified               | 2/6/2018        |
| Account Mgr.           | Andrew Silva    |
| AM Phone               | (562) 236-5316  |
| AM Email               | asilva@ams.net  |
| Inside<br>Account Mgr. | Lisa Moomau     |
| IAM Phone              | (925) 245-6139  |
| IAM Email              | lmoomau@ams.net |
| Quote Exp.             | 12/5/2018       |

### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN: Meghan Weeks

### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN: Meghan Weeks

### **Quote Description**

Long Beach Public Libraries E-rate 20 - New Main Equipment - Core Networking Equipment shared by all sites.

| Line | Item<br>Description  | Manufacturer       | Qty  | Unit Price | Extended Price   |
|------|--|--------------------|------|------------|--|
| Ciso | co ASR1001-X   |                    |      |            | - Andrew Control of the Control of t |
| 1    | ASR1001-X<br>Cisco ASR1001-X Chassis, 6 built-in GE, Dual P/S, 8GB<br>DRAM | Cisco Systems Inc. | 2.00 | \$7,391.30 | \$14,782.60  |
| 2    | CON-SW-ASR1001X<br>SNTC-NO RMA Cisco ASR1001-X Chassis, Crypto, 6 built    | Cisco Systems Inc. | 2.00 | \$0.00     | \$0.00   |
| 3    | SLASR1-AIS<br>Cisco ASR 1000 Advanced IP Services License                  | Cisco Systems Inc. | 2.00 | \$4,347.83 | \$8,695.66   |
| 4    | CON-SW-SLASR1AK<br>SNTC-NO RMA Cisco ASR 1000 Advanced IP Services         | Cisco Systems Inc. | 2.00 | \$0.00     | \$0.00   |
| 5    | ASR1K-INTERNET ASR1K-Int Edge/Peering incl. BGP/NAT/ZBFW - tracking only   | Cisco Systems Inc. | 2.00 | \$0.00     | \$0.00   |
| 6    | GLC-SX-MMD<br>1000BASE-SX SFP transceiver module, MMF, 850nm,<br>DOM       | Cisco Systems Inc. | 6.00 | \$217.39   | \$1,304.34   |
| 7    | M-ASR1001X-16GB<br>Cisco ASR1001-X 16GB DRAM                               | Cisco Systems Inc. | 2.00 | \$4,782.61 | \$9,565.22   |
| 8    | ASR1001-X-PWR-AC<br>Cisco ASR1001-X AC Power Supply                        | Cisco Systems Inc. | 4.00 | \$0.00     | \$0.00   |

**AMS.NET, Inc.** 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| 9 | CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m | Cisco Systems Inc. | 4.00 | \$0.00 | \$0.00 |
|---|---|--------------------|------|--------|--------|
|   | 710 Torror osta (Horar Farionsa), o toj Hizmato tor j z. mr |                    |      |        |        |

| Cis | co ASA5555X with FirePOWER   |                    |      |             |             |
|-----|--|--------------------|------|-------------|-------------|
| 10  | ASA5555-FPWR-K9<br>ASA 5555-X with FirePOWER Services, 8GE, AC,<br>3DES/AES, 2SSD  | Cisco Systems Inc. | 2.00 | \$11,128.26 | \$22,256.52 |
| 11  | CON-SW-A55FPK9<br>SNTC-NO RMA ASA 5555-X with FirePOWER Services,<br>8GE,          | Cisco Systems Inc. | 2.00 | \$0.00      | \$0.00      |
| 12  | CAB-AC<br>AC Power Cord (North America), C13, NEMA 5-15P, 2.1m                     | Cisco Systems Inc. | 2.00 | \$0.00      | \$0.00      |
| 13  | AC-VPNO-25<br>Cisco AnyConnect VPN Only, 25 Simultaneous, ASA Opt<br>(Paper)       | Cisco Systems Inc. | 1.00 | \$1,736.96  | \$1,736.96  |
| 14  | CON-ECMU-ACVA25<br>SWSS UPGRADES Cisco AnyConnect VPN Only, 25<br>Simultaneous, AS | Cisco Systems Inc. | 2.00 | \$559.30    | \$1,118.60  |

| 15 | N5672UP-2FEX-10G<br>N5672UP Chassis with 2 x 10G FEXes with FETs          | Cisco Systems Inc. | 2.00  | \$24,347.83 | \$48,695.66 |
|----|---|--------------------|-------|-------------|-------------|
| 16 | CON-SW-72FX210G<br>SNTC-NO RMA N5672UP Chassis with 2 x 10G FEXes<br>with | Cisco Systems Inc. | 2.00  | \$0.00      | \$0.00      |
| 17 | CAB-9K12A-NA Power Cord, 125VAC 13A NEMA 5-15 Plug, North America         | Cisco Systems Inc. | 8.00  | \$0.00      | \$0.00      |
| 18 | CON-SW-2232B<br>SNTC-NO RMA Nexus 2232PP for N5K/N2K Bundle               | Cisco Systems Inc. | 4.00  | \$0.00      | \$0.00      |
| 19 | CAB-9K12A-NA Power Cord, 125VAC 13A NEMA 5-15 Plug, North America         | Cisco Systems Inc. | 4.00  | \$0.00      | \$0.00      |
| 20 | CON-SW-5672UPB<br>SNTC-NO RMA Nexus 5672UP 1RU, 32                        | Cisco Systems Inc. | 2.00  | \$0.00      | \$0.00      |
| 21 | N56-BAS1K9<br>Nexus 5600 Series LAN Base License                          | Cisco Systems Inc. | 2.00  | \$0.00      | \$0.00      |
| 22 | SFP-10G-LR-S= 10GBASE-LR SFP Module, Enterprise-Class                     | Cisco Systems Inc. | 6.00  | \$826.09    | \$4,956.54  |
| 23 | SFP-10G-SR-S= 10GBASE-SR SFP Module, Enterprise-Class                     | Cisco Systems Inc. | 10.00 | \$282.61    | \$2,826.10  |



**AMS.NET, Inc.** 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| Lab | Labor   |         |      |            |             |  |
|-----|---|---------|------|------------|-------------|--|
| 24  | AMS-NI-LAN-CISCO-CORE-9000<br>Labor: Cisco Core Switch Installation - 2000 Series | AMS.NET | 2.00 | \$1,500.00 | \$3,000.00  |  |
| 25  | AMS-NI-SEC-ASA<br>Labor: Cisco ASA Firewall                                       | AMS.NET | 2.00 | \$5,000.00 | \$10,000.00 |  |
| 26  | AMS-NI-LAN-CISCO-WAN-CORE-AX Labor: Cisco WAN CORE Router AX Bundle Installation  | AMS.NET | 2.00 | \$3,000.00 | \$6,000.00  |  |

| Ship | Shipping                            |      |      |        |        |
|------|-------------------------------------|------|------|--------|--------|
|      | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$0.00 | \$0.00 |

# Order Summary

| Subtotal        | \$134,938.20 |
|-----------------|--------------|
| Adjustment      | \$0,00       |
| Estimated Taxes | \$10,699.68  |
| Total           | \$145,637.88 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



**AMS.NET, Inc.** 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax

www.ams.net

Please fax signed Quotation or Purchase Order to your AMS.NET account manager or to 925.245.6150. Full terms and conditions can be viewed on our website at <a href="https://www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

| Authorized Signature: |              | Date: |  |
|-----------------------|--------------|-------|--|
| Print Name:           | Print Title: |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

# **Customer Price Quote**

| Quote#                 | #Q-00023933     |
|------------------------|-----------------|
| Quote #                | #4-00023333     |
| Project #              | 86196           |
| Modified               | 2/6/2018        |
| Account Mgr.           | Andrew Silva    |
| AM Phone               | (562) 236-5316  |
| AM Email               | asilva@ams.net  |
| Inside<br>Account Mgr. | Lisa Moomau     |
| IAM Phone              | (925) 245-6139  |
| IAM Email              | lmoomau@ams.net |
| Quote Exp.             | 5/6/2018        |

### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN: Meghan Weeks

### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN: Meghan Weeks

### **Quote Description**

Long Beach Public Libraries E-rate 20 - LAN+WAN Networking Equipment

| Line | Item<br>Description   | Manufacturer      | Qty   | Unit Price | Extended Price |
|------|---|-------------------|-------|------------|----------------|
| Aer  | Aerohive 250 APs w/3YR License  |                   |       |            |                |
| 1    | AH-ERATE-NGCS-3YR-250-FCC AP250, FCC, 3 years Select support, manufacturer's warranty, and three (3) year subscription for HiveManager NG Online. | Aerohive Wireless | 36.00 | \$590.44   | \$21,255.84    |

| Aero | Aerohive 1130 APs w/3YR License  |                   |       |          |            |  |
|------|--|-------------------|-------|----------|------------|--|
| 2    | AH-ERATE-NGCS-3YR-1130-FCC AEROHIVE NETWORKS INC : AP1130,FCC,3 years Select support,manufacturers standard warranty,and three (3) year subscription for HiveManager NG Online. Power supply/injector and antennas not included. | Aerohive Wireless | 10.00 | \$818.00 | \$8,180.00 |  |

| Ed | ge Switches  |                    |      |            |             |
|----|--|--------------------|------|------------|-------------|
| 3  | CON-SW-WSC3851L<br>SNTC-NO RMA Cisco Catalyst 3850 48 Port (12 mGig+36             | Cisco Systems Inc. | 6.00 | \$0.00     | \$0.00      |
| 4  | C3850-NM-8-10G<br>Cisco Catalyst 3850 8 x 10GE Network Module                      | Cisco Systems Inc. | 1.00 | \$2,608.70 | \$2,608.70  |
| 5  | WS-C3850-12X48U-L<br>Cisco Catalyst 3850 48 Port (12 mGig+36 Gig) UPoE LAN<br>Base | Cisco Systems Inc. | 6.00 | \$5,434.78 | \$32,608.68 |

**AMS.NET, Inc.** 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| 6  | PWR-C1-1100WAC/2<br>1100W AC Config 1 Secondary Power Supply                       | Cisco Systems Inc. | 6.00  | \$826.09   | \$4,956.54  |
|----|--|--------------------|-------|------------|-------------|
| 7  | CAB-TA-NA<br>North America AC Type A Power Cable                                   | Cisco Systems Inc. | 12.00 | \$0.00     | \$0.00      |
| 8  | STACK-T1-1M<br>1M Type 1 Stacking Cable  | Cisco Systems Inc. | 6.00  | \$86.96    | \$521.76    |
| 9  | C3850-NM-4-10G=<br>Cisco Catalyst 3850 4 x 10GE Network Module                     | Cisco Systems Inc. | 4.00  | \$1,739.13 | \$6,956.52  |
| 10 | WS-C3850-12X48U-L<br>Cisco Catalyst 3850 48 Port (12 mGig+36 Gig) UPoE LAN<br>Base | Cisco Systems Inc. | 14.00 | \$5,434.78 | \$76,086.92 |
| 11 | PWR-C1-1100WAC/2<br>1100W AC Config 1 Secondary Power Supply                       | Cisco Systems Inc. | 14.00 | \$826.09   | \$11,565.26 |
| 12 | CAB-TA-NA<br>North America AC Type A Power Cable                                   | Cisco Systems Inc. | 28.00 | \$0.00     | \$0.00      |
| 13 | STACK-T1-1M<br>1M Type 1 Stacking Cable  | Cisco Systems Inc. | 7.00  | \$86.96    | \$608.72    |
| 14 | CON-SW-WSC3851L<br>SNTC-NO RMA Cisco Catalyst 3850 48 Port (12 mGig+36             | Cisco Systems Inc. | 14.00 | \$0.00     | \$0.00      |
| 15 | STACK-T1-3M<br>3M Type 1 Stacking Cable  | Cisco Systems Inc. | 7.00  | \$130.43   | \$913.01    |

| Net | Shelter SX  |                              |      |            |             |
|-----|---|------------------------------|------|------------|-------------|
| 16  | AR3347<br>NetShelter SX 48U 750mm Wide x 1200mm Deep<br>Networking Enclosure with Sides | American Power<br>Conversion | 6.00 | \$2,155.79 | \$12,934.74 |
| 17  | AR7717A Vertical Cable Manager for NetShelter SX 42U Networking Enclosure (Qty 4)       | American Power<br>Conversion | 6.00 | \$221.64   | \$1,329.84  |
| 18  | AP8706S-NA Power Cord Kit (6 ea), Locking, C13 to C14, 1.8m, North America              | American Power<br>Conversion | 6.00 | \$89.89    | \$539.34    |

| Labor |  |         |       |          |            |  |
|-------|--|---------|-------|----------|------------|--|
| 19    | AMS-NI-LAN-CISCO-EDGE-STACKABLE Labor: Cisco Edge Switch Installation - Stackable  | AMS.NET | 20.00 | \$400.00 | \$8,000.00 |  |
| 20    | AMS-NI-WIRELESS-LAP-AEROHIVE Labor: Aerohive Access Point Installation.Cabling and mounting not included. (Cabling quote required for these services.) | AMS.NET | 46.00 | \$100.00 | \$4,600.00 |  |



AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| Ship | ping                                |      |      |            |            |
|------|-------------------------------------|------|------|------------|------------|
| 21   | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$1,650.00 | \$1,650.00 |

# Order Summary

| Subtotal        | \$195,315.87 |
|-----------------|--------------|
| Adjustment      | \$0.00       |
| Estimated Taxes | \$18,717,41  |
| Total           | \$214,033,28 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

Please fax signed Quotation or Purchase Order to your AMS.NET account manager or to 925.245.6150. Full terms and conditions can be viewed on our website at <a href="https://www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

| Authorized Signature: | · · · · · · · · · · · · · · · · · · · | Date: |  |
|-----------------------|---------------------------------------|-------|--|
| Print Name:           | Print Title:                          |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

# **Customer Price Quote**

| Quote#                 | #Q-00018306      |
|------------------------|------------------|
| Project #              | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

### **Quote Description**

E-Rate 20 Harte Library Cabling

| Line | ltem<br>Description                         | Manufacturer | Qty  | Unit Price | Extended Price | Tax     |
|------|---|--------------|------|------------|----------------|---------|
| *St  | ation Cable & Support*                      |              |      |            |                |         |
| 1    | 10136226<br>LANmark-6 Cat Blue Plenum 1000' | Berk-Tek     | 1.00 | \$450.57   | \$450.57       | \$46.19 |
|      | Berk-Tek BerkTek Category 6 Cables          |              |      |            |                |         |

| *Sta | *Station Material*   |  |      |        |         |        |  |  |
|------|--|--|------|--------|---------|--------|--|--|
| 2    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$5.76 | \$17.28 | \$1.77 |  |  |
| 3    | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$1.89 | \$5.67  | \$0.58 |  |  |

| *Pat | tch Cords*   |  | *************************************** | ************************************** |         |        |
|------|--|--|---|--|---------|--------|
| 4    | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 3.00                                    | \$5.99                                 | \$17.97 | \$1.84 |
| 5    | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 3.00                                    | \$8.33                                 | \$24.99 | \$2.56 |



| *Ra | aceway*   |         |        |        |          |         |
|-----|---|---------|--------|--------|----------|---------|
| 6   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 300.00 | \$2.61 | \$783.00 | \$80.26 |
| 7   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | 3.00   | \$4.70 | \$14.10  | \$1.45  |
| 8   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 9   | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 10  | OCF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 11  | CF101WX<br>DUCT COUPLING  | Panduit | 30.00  | \$1.30 | \$39.00  | \$4.00  |
| 12  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 3.00   | \$1.67 | \$5.01   | \$0.51  |
| 13  | ECF10WHX<br>WHT DUCT END CAP  | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33  |
| 14  | TFC10WHX<br>LATCH DUCT COVER FTNG   | Panduit | 10.00  | \$1.92 | \$19.20  | \$1.96  |

| *Mi | scellaneous*   |                            |      |         |         |        |
|-----|--|----------------------------|------|---------|---------|--------|
| 15  | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 16  | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 17  | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 18  | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 19  | <b>189645</b><br>3/4IN VELCRO BLK 75FT                       | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 20  | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 21  | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |



**AMS.NET, Inc.** 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| *Shi | pping*                              |      |      | MATERIAL DE LA CONTRACTOR DE LA CONTRACT | , M1997,01744 | The state of the s |
|------|-------------------------------------|------|------|--|---------------|--|
| 22   | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$40.00  | \$40.00       | \$1.34   |

| *Lab | *Labor*   |         |      |            |            |        |  |  |  |  |
|------|---|---------|------|------------|------------|--------|--|--|--|--|
| 23   | AMS-CI-SUB-LAB Install 300' of LD10 with all required fittings.                 | Cabling | 1.00 | \$3,103.70 | \$3,103.70 | \$0.00 |  |  |  |  |
|      | Run 3 new Cat 6 cables for customer provided AP's and swap out 4 existing AP's. |         |      |            |            |        |  |  |  |  |
|      | certify new cable runs.   |         |      |            |            |        |  |  |  |  |
| 24   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                               | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |  |  |  |  |

# Order Summary

| Subtotal        | \$5,099.00 |
|-----------------|------------|
| Adjustment-     | \$0.00     |
| Estimated Taxes | \$171.01   |
| Total           | \$5,270.01 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at www.ams.net/services/procurement-and-financing/

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement. including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

Please fax signed Quotation or Purchase Order to your AMS.NET account manager or to 925.245.6150. Full terms and conditions can be viewed on our website at <a href="https://www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

| Authorized Signature: |              | Date: |  |
|-----------------------|--------------|-------|--|
|                       |              |       |  |
| Print Name:           | Print Title: |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

# **Customer Price Quote**

| MATERIAL CONTROL CONTR | ETTELLES COMMANDE A MARINE DE LE COMMANDE DE LA COMMANDE DEL COMMANDE DE LA COMMANDE DE LA COMMANDE DEL COMMANDE DE LA COMMAND |
|--|--|
| Quote#   | #Q-00018307  |
| Project #  | 84630  |
| Modified   | 12/13/2017   |
| Account Mgr.   | Andrew Silva   |
| AM Phone   | (562) 236-5316   |
| AM Email   | asilva@ams.net   |
| Inside<br>Account Mgr.   | Dave Gilland   |
| IAM Phone  | (925) 245-6125   |
| IAM Email  | dgilland@ams.net   |
| Quote Exp.   | 5/4/2018   |

### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

### **Quote Description**

E-Rate 20 Dana Library Cabling

| Line | Item Description                                   | Manufacturer | Qty  | Unit Price | Extended<br>Price | Tax     |
|------|--|--------------|------|------------|-------------------|---------|
| *St  | ation Cable & Support*                             |              |      |            |                   |         |
| 1    | <b>10136226</b><br>LANmark-6 Cat Blue Plenum 1000' | Berk-Tek     | 1.00 | \$450.57   | \$450.57          | \$46.19 |
|      | Berk-Tek BerkTek Category 6 Cables                 |              |      |            |                   |         |

| *Sta | ation Material*  |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 2    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.76 | \$23.04 | \$2.36 |
| 3    | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$1.89 | \$7.56  | \$0.78 |

| *Pat | ch Cords*  |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 4    | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.99 | \$23.96 | \$2.46 |
| 5    | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$8.33 | \$33.32 | \$3.41 |



| *Ra | aceway*   |         |        |        |            |          |
|-----|---|---------|--------|--------|------------|----------|
| 6   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 400.00 | \$2.61 | \$1,044.00 | \$107.01 |
| 7   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | 4.00   | \$4.70 | \$18.80    | \$1.94   |
| 8   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 9   | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 10  | OCF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 11  | CF101WX<br>DUCT COUPLING  | Panduit | 40.00  | \$1.30 | \$52.00    | \$5.33   |
| 12  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 3.00   | \$1.67 | \$5.01     | \$0.51   |
| 13  | ECF10WHX<br>WHT DUCT END CAP  | Panduit | 10.00  | \$1.30 | \$13.00    | \$1.33   |
| 14  | TFC10WHX<br>LATCH DUCT COVER FTNG   | Panduit | 10.00  | \$1.92 | \$19.20    | \$1.96   |

| *Mis | scellaneous*   |                            |      |         |         |        |
|------|--|----------------------------|------|---------|---------|--------|
| 15   | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 16   | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 17   | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 18   | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 19   | <b>189645</b><br>3/4IN VELCRO BLK 75FT                       | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 20   | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 21   | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |



AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| *Shi | pping*                           |      |      | ************************************** |         |        |
|------|----------------------------------|------|------|--|---------|--------|
|      | AMS-FREIGHT Freight and Handling | None | 1.00 | \$40.00                                | \$40.00 | \$1.36 |

| *Lal | oor*  |         |      |            |            |        |
|------|---|---------|------|------------|------------|--------|
| 23   | AMS-CI-SUB-LAB Install 400' of LD10 with all required fittings.                 | Cabling | 1.00 | \$3,683.91 | \$3,683.91 | \$0.00 |
|      | Run 4 new Cat 6 cables for customer provided AP's and swap out 3 existing AP's. |         |      |            |            |        |
|      | certify new cable runs.   |         |      |            |            |        |
| 24   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                               | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |

# Order Summary

| Subtotal        | \$5,999.38 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | \$203.84   |
| Total           | \$6,203.22 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- 6. Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages. All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement. and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement, AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| Authorized Signature: |              | Date: | West of the second seco |
|-----------------------|--------------|-------|--|
| Print Name:           | Print Title: |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

## **Customer Price Quote**

| Quote#                 | #Q-00018309      |
|------------------------|------------------|
| Project#               | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

#### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

#### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

#### **Quote Description**

E-Rate 20 Los Altos Library Cabling

| Line | Item Description  | Manufacturer | Qty  | Unit Price | Extended<br>Price | Tax     |
|------|---|--------------|------|------------|-------------------|---------|
| *St  | ation Cable & Support*  |              |      |            |                   |         |
| 1    | 10136226<br>LANmark-6 Cat Blue Plenum 1000'<br>Berk-Tek BerkTek Category 6 Cables | Berk-Tek     | 1.00 | \$450.57   | \$450.57          | \$46.19 |

| *Sta | ation Material*  |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 2    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$5.76 | \$17.28 | \$1.77 |
| 3    | 41089-11P Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$1.89 | \$5.67  | \$0.58 |

| *Pa | tch Cords*   |  |      |        |         |        |
|-----|--|--|------|--------|---------|--------|
| 4   | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$5.99 | \$17.97 | \$1.84 |
| 5   | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$8.33 | \$24.99 | \$2.56 |



| *Ra | ceway*  |         |        |        |          |         |
|-----|---|---------|--------|--------|----------|---------|
| 6   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 300.00 | \$2.61 | \$783.00 | \$80.26 |
| 7   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | . 3.00 | \$4.70 | \$14.10  | \$1.45  |
| 8   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 9   | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 10  | 0CF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 11  | CF101WX<br>DUCT COUPLING  | Panduit | 30.00  | \$1.30 | \$39.00  | \$4.00  |
| 12  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 3.00   | \$1.67 | \$5.01   | \$0.51  |
| 13  | ECF10WHX<br>WHT DUCT END CAP  | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33  |
| 14  | TFC10WHX<br>LATCH DUCT COVER FTNG   | Panduit | 10.00  | \$1.92 | \$19.20  | \$1.96  |

| *Mis | scellaneous*   |                            |      |         |         |        |
|------|--|----------------------------|------|---------|---------|--------|
| 15   | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 16   | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 17   | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 18   | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 19   | <b>189645</b><br>3/4IN VELCRO BLK 75FT                       | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 20   | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 21   | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |



| *Shi | pping*                              |      |      |         |         |        |
|------|-------------------------------------|------|------|---------|---------|--------|
| 22   | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$40.00 | \$40.00 | \$1.34 |

| *Lal | bor*  |         |      |            |            |        |
|------|---|---------|------|------------|------------|--------|
| 23   | AMS-CI-SUB-LAB Install 300' of LD10 with all required fittings.                 | Cabling | 1.00 | \$3,103.70 | \$3,103.70 | \$0.00 |
|      | Run 3 new Cat 6 cables for customer provided AP's and swap out 4 existing AP's. |         |      |            |            |        |
|      | certify new cable runs.   |         |      |            |            |        |
| 24   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                               | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |

# Order Summary

| Subtotal        | \$5,099.00 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | \$171.01   |
| Total           | \$5,270.01 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement. including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph. Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



www.ams.net

| Authorized Signature: |              | Date: |  |
|-----------------------|--------------|-------|--|
|                       |              |       |  |
| Print Name:           | Print Title: |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### **Customer Price Quote**

| Quote#                 | #Q-00018310      |
|------------------------|------------------|
| Project #              | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

#### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

#### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

#### **Quote Description**

E-Rate 20 Bay Shore Library Cabling

| Line | Item<br>Description                         | Manufacturer | Qty  | Unit Price | Extended<br>Price | Tax     |
|------|---|--------------|------|------------|-------------------|---------|
| *Sta | ation Cable & Support*                      |              |      |            |                   |         |
| 1    | 10136226<br>LANmark-6 Cat Blue Plenum 1000' | Berk-Tek     | 1.00 | \$450.57   | \$450.57          | \$46.19 |
|      | Berk-Tek BerkTek Category 6 Cables          |              |      |            |                   |         |

| *Sta | ation Material*  |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 2    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$5.76 | \$17.28 | \$1.77 |
| 3    | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$1.89 | \$5.67  | \$0.58 |

| *Pa | itch Cords*  |  |      |        |         |        |
|-----|--|--|------|--------|---------|--------|
| 4   | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$5.99 | \$17.97 | \$1.84 |
| 5   | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 3.00 | \$8.33 | \$24.99 | \$2.56 |



| *Ra | aceway*   |         |        |        |          |         |
|-----|---|---------|--------|--------|----------|---------|
| 6   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 300.00 | \$2.61 | \$783.00 | \$80.26 |
| 7   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | 3.00   | \$4.70 | \$14.10  | \$1.45  |
| 8   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 9   | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 10  | OCF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 15.00  | \$1.30 | \$19.50  | \$2.01  |
| 11  | CF101WX DUCT COUPLING   | Panduit | 30.00  | \$1.30 | \$39.00  | \$4.00  |
| 12  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 3.00   | \$1.67 | \$5.01   | \$0.51  |
| 13  | ECF10WHX<br>WHT DUCT END CAP  | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33  |
| 14  | TFC10WHX<br>LATCH DUCT COVER FTNG   | Panduit | 10.00  | \$1.92 | \$19.20  | \$1.96  |

| *Mis | scellaneous*   |                            |      |         |         |        |
|------|--|----------------------------|------|---------|---------|--------|
| 15   | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 16   | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 17   | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 18   | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL ,                    | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 19   | <b>189645</b><br>3/4IN VELCRO BLK 75FT                       | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 20   | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 21   | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |



| *Shi | pping*                              |      |      |         | ·       |        |
|------|-------------------------------------|------|------|---------|---------|--------|
| 22   | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$40.00 | \$40.00 | \$1.34 |

| *Lat | oor*  |         |      |            |            |        |
|------|---|---------|------|------------|------------|--------|
| 23   | AMS-CI-SUB-LAB Install 300' of LD10 with all required fittings.                 | Cabling | 1.00 | \$3,103.70 | \$3,103.70 | \$0.00 |
|      | Run 3 new Cat 6 cables for customer provided AP's and swap out 4 existing AP's. |         |      |            |            |        |
|      | certify new cable runs.   |         |      |            |            |        |
| 24   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                               | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |

## Order Summary

| Subtotal        | \$5,099.00 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | \$171.01   |
| Total           | \$5,270.01 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement. and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph. Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



| Authorized Signature: |              | Date: |  |
|-----------------------|--------------|-------|--|
| Print Name:           | Print Title: |       |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### **Customer Price Quote**

| Quote#                 | #Q-00018311      |
|------------------------|------------------|
| Project #              | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

#### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

#### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

#### Quote Description

E-Rate 20 Brewitt Library Cabling

| Line | Item Description  | Manufacturer | Qty  | Unit Price | Extended<br>Price | Tax     |
|------|---|--------------|------|------------|-------------------|---------|
| *Sta | ation Cable & Support*  |              |      |            |                   |         |
| 1    | 10136226<br>LANmark-6 Cat Blue Plenum 1000'<br>Berk-Tek BerkTek Category 6 Cables | Berk-Tek     | 1.00 | \$450.57   | \$450.57          | \$46.19 |

| *Sta | tion Material*   |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 2    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.76 | \$23.04 | \$2.36 |
| 3    | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$1.89 | \$7.56  | \$0.78 |

| *Pa | *Patch Cords*                                      |  |      |        |         |        |  |
|-----|--|--|------|--------|---------|--------|--|
| 4   | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.99 | \$23.96 | \$2.46 |  |
| 5   | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$8.33 | \$33.32 | \$3.41 |  |

| AMS.NET, Inc.                         |
|---------------------------------------|
| 502 Commerce Way, Livermore, CA 94551 |
| 925-245-6100 • 925-245-6150 Fax       |
| www.ams.net                           |
|                                       |
|                                       |
|                                       |
|                                       |

| *Ra | aceway*   |           |        |        |            |          |
|-----|---|-----------|--------|--------|------------|----------|
| 6   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit   | 400.00 | \$2.61 | \$1,044.00 | \$107.01 |
| 7   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit   | 4.00   | \$4.70 | \$18.80    | \$1.94   |
| 8   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit   | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 9   | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit   | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 10  | OCF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit · | 20.00  | \$1.30 | \$26.00    | \$2.67   |
| 11  | CF101WX<br>DUCT COUPLING  | Panduit   | 40.00  | \$1.30 | \$52.00    | \$5.33   |
| 12  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit   | 3.00   | \$1.67 | \$5.01     | \$0.51   |
| 13  | ECF10WHX<br>WHT DUCT END CAP  | Panduit   | 10.00  | \$1.30 | \$13.00    | \$1.33   |
| 14  | TFC10WHX LATCH DUCT COVER FTNG  | Panduit   | 10.00  | \$1.92 | \$19.20    | \$1.96   |

| *Mi | scellaneous*   |                            |      |         |         |        |
|-----|--|----------------------------|------|---------|---------|--------|
| 15  | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 16  | TZES251 1 BLACK WHITE INDUSTRIAL TAPE                        | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 17  | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 18  | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 19  | <b>189645</b><br>3/4IN VELCRO BLK 75FT                       | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 20  | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 21  | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |



| *Shi | pping*                           |      |      |         | THE STATE OF THE S |        |
|------|----------------------------------|------|------|---------|--|--------|
| 22   | AMS-FREIGHT Freight and Handling | None | 1.00 | \$40.00 | \$40.00  | \$1.36 |

| *Lal | bor*  |         |      |            |            |        |
|------|---|---------|------|------------|------------|--------|
| 23   | AMS-CI-SUB-LAB Install 400' of LD10 with all required fittings.                 | Cabling | 1.00 | \$3,683.91 | \$3,683.91 | \$0.00 |
|      | Run 4 new Cat 6 cables for customer provided AP's and swap out 3 existing AP's. |         |      |            |            |        |
|      | certify new cable runs.   |         |      |            |            |        |
| 24   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                               | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |

# Order Summary

| Subtotal        | \$5,999.38 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | \$203.84   |
| Total           | \$6,203.22 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages.
   All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph. Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| Authorized Signature: | 1 | ·            |  |  |
|-----------------------|---|--------------|--|--|
|                       |   |              |  |  |
| Print Name:           |   | Print Title: |  |  |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### **Customer Price Quote**

| Quote#                 | #Q-00018313      |
|------------------------|------------------|
| Project #              | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

#### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

#### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

#### **Quote Description**

E-Rate 20 Alamitos Library Cabling

| Line | Item Description                                   | Manufacturer | Qty_ | Unit Price | Extended<br>Price | Tax     |
|------|--|--------------|------|------------|-------------------|---------|
| *St  | ation Cable & Support*                             |              |      |            |                   |         |
| 1    | <b>10136226</b><br>LANmark-6 Cat Blue Plenum 1000' | Berk-Tek     | 1.00 | \$450.57   | \$450.57          | \$46.19 |
|      | Berk-Tek BerkTek Category 6 Cables                 |              |      |            |                   |         |

| *St | ation Material*  |  |      |        |         |        |
|-----|--|--|------|--------|---------|--------|
| 2   | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.76 | \$23.04 | \$2.36 |
| 3   | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$1.89 | \$7.56  | \$0.78 |

| *MD | *MDF/IDF Data Material*  |  |      |          |          |         |  |
|-----|--|--|------|----------|----------|---------|--|
| 4   | 69586-U24<br>Leviton 24 Port CAT 6 Extreme Patch Panel                                     | Leviton Manufacturing<br>Company, Inc. | 1.00 | \$156.57 | \$156.57 | \$16.05 |  |
|     | Leviton Manufacturing Company, Inc. Leviton Rack<br>Mount Patch Panel Patch Panel - Copper |  |      |          |          |         |  |

\*Patch Cords\*

| 5 | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.99 | \$23.96 | \$2.46 |
|---|--|--|------|--------|---------|--------|
| 6 | 6D460-10L<br>CAT6 Slim Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$8.33 | \$33.32 | \$3.41 |

| *Ra | ceway*  |         |       |        |         |        |
|-----|---|---------|-------|--------|---------|--------|
| 7   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 20.00 | \$2.61 | \$52.20 | \$5.34 |
| 8   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | 2.00  | \$4.70 | \$9.40  | \$0.95 |
| 9   | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 2.00  | \$1.30 | \$2.60  | \$0.28 |
| 10  | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 2.00  | \$1.30 | \$2.60  | \$0.28 |
| 11  | 0CF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 2.00  | \$1.30 | \$2.60  | \$0.28 |
| 12  | CF101WX<br>DUCT COUPLING  | Panduit | 2.00  | \$1.30 | \$2.60  | \$0.28 |
| 13  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 2.00  | \$1.67 | \$3.34  | \$0.34 |

| *Co | onduit/Sealtight/Raceway*  |         |       |         |          |         |
|-----|--|---------|-------|---------|----------|---------|
| 14  | 1-EMT<br>EMT 1" Conduit - (10')<br>Graybar EMT (TUB) 1" Conduit Conduit  | Graybar | 4.00  | \$7.68  | \$30.72  | \$3.15  |
| 15  | TC113A-RT 1" EMT Raintight Compression Coupler Halex conduit Conduit     | Graybar | 35.00 | \$3.07  | \$107.45 | \$11.01 |
| 16  | EMT100 1" Arlington EMT Plastic Bushing Graybar conduit Conduit          | Graybar | 8.00  | \$0.46  | \$3.68   | \$0.38  |
| 17  | 700 1 EG Power Strut Strap 1" EMT Allied Tube and Conduit Straps Conduit | Graybar | 10.00 | \$1.33  | \$13.30  | \$1.36  |
| 18  | A1200HS 10EG Deep Strut (10') Graybar Deep Strut Conduit                 | Graybar | 2.00  | \$21.84 | \$43.68  | \$4.48  |



| 19 | LB35 1" Threaded Alum Conduit Body LB CROUSE-HINDS Halex conduit Conduit | Graybar                 | 4.00 | \$7.56 | \$30.24 | \$3.09 |
|----|--|-------------------------|------|--------|---------|--------|
| 20 | TP472<br>4SQ FLAT BLANK COVER  | COOPER CROUSE-<br>HINDS | 4.00 | \$0.44 | \$1.76  | \$0.19 |
| 21 | 53240<br>WP BOX 1G 3 3/4 OUTLETS GRY                                     | Raco                    | 4.00 | \$7.72 | \$30.88 | \$3.17 |

| *Mi | scellaneous*   |                            |      |         |         |        |
|-----|--|----------------------------|------|---------|---------|--------|
| 22  | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 23  | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 24  | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 25  | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 26  | 189645<br>3/4IN VELCRO BLK 75FT                              | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 27  | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 28  | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |

| *Shipping* |                                     |      |      |         |         |        |
|------------|-------------------------------------|------|------|---------|---------|--------|
| 29         | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$40.00 | \$40.00 | \$0.72 |

| *Lal | *Labor*   |         |      |            |            |        |  |  |  |
|------|---|---------|------|------------|------------|--------|--|--|--|
| 30   | AMS-CI-SUB-LAB Install 350' of 1" emt conduit with all required fittings.       | Cabling | 1.00 | \$5,469.07 | \$5,469.07 | \$0.00 |  |  |  |
|      | Install 20'of LD5 raceway.  |         |      |            |            |        |  |  |  |
|      | Run 4 new Cat 6 cables for customer provided AP's and swap out 3 existing AP's. |         |      |            |            |        |  |  |  |
|      | certify new cable runs.   |         |      |            |            |        |  |  |  |



|   | 31 | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling | AMS.NET | 2.00 | \$150.00 | \$300.00 | \$0.00 |
|---|----|---|---------|------|----------|----------|--------|
| L |    |   |         |      |          |          |        |

## Order Summary

| Subtotal        | \$7,048.15 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | - \$127.74 |
| _Total          | \$7,175.89 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- 6. Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages. All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement, AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



| Authorized Signature: |              | Date: | *************************************** |
|-----------------------|--------------|-------|---|
|                       |              |       |   |
| Print Name:           | Print Title: |       |   |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

# **Customer Price Quote**

| Quote#                 | #Q-00018318      |
|------------------------|------------------|
| Project#               | 84630            |
| Modified               | 12/13/2017       |
| Account Mgr.           | Andrew Silva     |
| AM Phone               | (562) 236-5316   |
| AM Email               | asilva@ams.net   |
| Inside<br>Account Mgr. | Dave Gilland     |
| IAM Phone              | (925) 245-6125   |
| IAM Email              | dgilland@ams.net |
| Quote Exp.             | 5/4/2018         |

#### Customer

Long Beach Public Library 101 Pacific Ave Long Beach CA, 90802 US ATTN:

#### Ship To

Long Beach Public Library 101 Pacific Ave Long Beach, CA 90802 ATTN:

#### **Quote Description**

E-Rate 20 Main Library Cabling

| Line                      | Item Description  | Manufacturer | Qty    | Unit Price | Extended<br>Price | Tax     |  |  |  |
|---------------------------|---|--------------|--------|------------|-------------------|---------|--|--|--|
| *Station Cable & Support* |   |              |        |            |                   |         |  |  |  |
| 1                         | CAT32HP4Z34<br>2IN JHOOK TO 4Z34 TO WIRE-ROD-FLANGE                               | Erico        | 200.00 | \$3.37     | \$674.00          | \$69.09 |  |  |  |
| 2                         | 10136226<br>LANmark-6 Cat Blue Plenum 1000'<br>Berk-Tek BerkTek Category 6 Cables | Berk-Tek     | 1.00   | \$450.57   | \$450.57          | \$46.19 |  |  |  |

| *Sta | ation Material*  |  |      |        |         |        |
|------|--|--|------|--------|---------|--------|
| 3    | 61110-RL6 Leviton RJ45 CAT 6 Termination Jack (Blue) Leviton Manufacturing Company, Inc. Connectors Cabling  | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.76 | \$23.04 | \$2.36 |
| 4    | 41089-1IP Leviton 1-Port QuickPort Surface Mount Housing Leviton Manufacturing Company, Inc. Cabling Cabling | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$1.89 | \$7.56  | \$0.78 |

| *ME | DF/IDF Data Material*  |  |      |          |          |         |
|-----|--|--|------|----------|----------|---------|
| 5   | 69586-U24<br>Leviton 24 Port CAT 6 Extreme Patch Panel                                     | Leviton Manufacturing<br>Company, Inc. | 2.00 | \$156.57 | \$313.14 | \$32.09 |
|     | Leviton Manufacturing Company, Inc. Leviton Rack<br>Mount Patch Panel Patch Panel - Copper |  |      |          |          |         |



| *Pa | tch Cords*   | ,                                      |      |        |         |        |
|-----|--|--|------|--------|---------|--------|
| 6   | 6D460-3L<br>CAT6 Slim Line Patch Cable - Blue 3'   | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$5.99 | \$23.96 | \$2.46 |
| 7   | 6D460-10L<br>CAT6 Slím Line Patch Cable - Blue 10' | Leviton Manufacturing<br>Company, Inc. | 4.00 | \$8.33 | \$33,32 | \$3.41 |

| *Ra | iceway*   |         |        |        |          | *************************************** |
|-----|---|---------|--------|--------|----------|---|
| 8   | LD10WH6A<br>LATCH DUCT WHT 6FT P/FT   | Panduit | 100.00 | \$2.61 | \$261.00 | \$26.75                                 |
| 9   | JB1WHA<br>SINGLE GANG BASE W/COVER  | Panduit | 2.00   | \$4.70 | \$9.40   | \$0.95                                  |
| 10  | RAF10WHX<br>WHT DUCT RT ANG FTG   | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33                                  |
| 11  | ICF10WH-X Panduit Inside Corner Fitting White Panduit Surface Raceway Cabling                 | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33                                  |
| 12  | 0CF10WHX<br>WHTDUCT OUTSIDE CRNR  | Panduit | 10.00  | \$1.30 | \$13.00  | \$1.33                                  |
| 13  | CF101WX<br>DUCT COUPLING  | Panduit | 5.00   | \$1.30 | \$6.50   | \$0.68                                  |
| 14  | DCF10WH-X Panduit LD10 Drop Ceiling Fitting White Panduit Surface Raceway Nonmetallic Raceway | Panduit | 4.00   | \$1.67 | \$6.68   | \$0.69                                  |
| 15  | ECF10WHX<br>WHT DUCT END CAP  | Panduit | 5.00   | \$1.30 | \$6.50   | \$0.68                                  |
| 16  | TFC10WHX LATCH DUCT COVER FTNG  | Panduit | 2.00   | \$1.92 | \$3.84   | \$0.40                                  |

| *Cc | nduit/Sealtight/Raceway*   |         |        |        |          |         |
|-----|--|---------|--------|--------|----------|---------|
| 17  | 53240<br>WP BOX 1G 3 3/4 OUTLETS GRY   | Raco    | 4.00   | \$7.72 | \$30.88  | \$3.17  |
| 18  | 3/4"-EMT<br>EMT 3/4" Conduit - (10')<br>Graybar EMT 3/4" Conduit               | Graybar | 100.00 | \$4.54 | \$454.00 | \$46.54 |
| 19  | TC112A-RT<br>3/4" EMT Raintight Compression Connector<br>Halex conduit Conduit | Graybar | 10.00  | \$1.72 | \$17.20  | \$1.75  |



| 20 | EMT75<br>3/4IN NM BUSHING     | Arlington               | 5.00 | \$0.13 | \$0.65 | \$0.07 |
|----|-------------------------------|-------------------------|------|--------|--------|--------|
| 21 | TP472<br>4SQ FLAT BLANK COVER | COOPER CROUSE-<br>HINDS | 4.00 | \$0.44 | \$1.76 | \$0.19 |

| *Mis | scellaneous*   |                            |      |         |         |        |
|------|--|----------------------------|------|---------|---------|--------|
| 22   | TZES211<br>1/4 BLACK WHITE INDUSTR TAPE                      | Brother International      | 1.00 | \$15.57 | \$15.57 | \$1.60 |
| 23   | TZES251<br>1 BLACK WHITE INDUSTRIAL TAPE                     | Brother International      | 1.00 | \$25.45 | \$25.45 | \$2.60 |
| 24   | L11509D<br>NATURAL NYL CBL TIE                               | Thomas & Betts             | 1.00 | \$11.32 | \$11.32 | \$1.16 |
| 25   | 31-388 IDEAL Pulling Lubercant 1 Quart IDEAL Cabling Cabling | IDEAL                      | 1.00 | \$9.90  | \$9.90  | \$1.01 |
| 26   | 189645<br>3/4IN VELCRO BLK 75FT                              | VELCRO USA<br>INCORPORATED | 1.00 | \$32.13 | \$32.13 | \$3.29 |
| 27   | JETLINE<br>6500' PULL STRING                                 | Jetline                    | 1.00 | \$32.18 | \$32.18 | \$3.29 |
| 28   | AMS-CP-HARDWARE Cabling: Mounting Hardware                   | Cabling                    | 1.00 | \$80.46 | \$80.46 | \$8.24 |

| *Shi | pping*                              |      |      |         |         | 1      |
|------|-------------------------------------|------|------|---------|---------|--------|
| 29   | AMS-FREIGHT<br>Freight and Handling | None | 1.00 | \$40.00 | \$40.00 | \$1.14 |

| *Lal | bor*   |         |      |            |            |        |
|------|--|---------|------|------------|------------|--------|
| 30   | AMS-CI-SUB-LAB Install 100' of LD5 with all required fittings.                   | Cabling | 1.00 | \$6,366.66 | \$6,366.66 | \$0.00 |
|      | Install 100' of 3/4" emt with all required fittings.                             |         |      |            |            |        |
|      | Run 4 new Cat 6 cables for customer provided AP's and swap out 10 existing AP's. | ,       |      |            |            |        |
|      | certify new cable runs.  |         |      |            |            |        |
| 31   | AMS-CI-PM-FOC<br>Labor: Project Manager - Cabling                                | AMS.NET | 2.00 | \$150.00   | \$300.00   | \$0.00 |



## Order Summary

| Subtotal        | \$9,276.67 |
|-----------------|------------|
| Adjustment      | \$0.00     |
| Estimated Taxes | \$264.57   |
| Total           | \$9,541.24 |



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

#### Terms and Conditions

- 1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.
- 2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.
- 3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.
- 4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.
- 5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.
- 6. Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages. All damages must be reported to AMS.NET within 24 hours of delivery.
- 7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <a href="mailto:service@ams.net">service@ams.net</a> A copy of AMS.NET's full RMA policy is available for review online at <a href="mailto:www.ams.net/services/procurement-and-financing/">www.ams.net/services/procurement-and-financing/</a>

- 8. The laws of the State of California will apply to this sale.
- 9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.
- 10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph. Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

| Authorized Signature: |              | Date: |  |
|-----------------------|--------------|-------|--|
|                       |              |       |  |
| Print Name:           | Print Title: |       |  |

# EXHIBIT "B"

City's Representative: Cason Lee, Manager (562) 570-5553

# EXHIBIT "C"

Materials/Information Furnished: None

# EXHIBIT "D"

# Consultant's Key Employee: Andrew Silva